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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

I'm busy at the moment _______ you call back later?
* can
* must
* might
¢ should
Correct Answer :-can
2)
Question Stimulus :-

Fill in the blank with the correct option.

Excuse me, I just say something?
e could
* might
* dare
* must
Correct Answer :-could
3)
Question Stimulus :-

Fill in the blank with the correct option.

If you were offered an overseas posting, you take it?
* might
2)
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* must

* mustn’t

e would
Correct Answer :-would
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

Her novels have been translated ___ 19 languages.
* into
e beyond
e by
o off
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

Running is an excellent way toburn_____ excess calories.
e by
* into
e for
o off
Correct Answer :-off
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

The children go to bed nine o'clock.
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e with
Correct Answer :-at
7)
Question Stimulus :-

Fill in the blank with the correct prepositions.

She's sitting__ the table ____ the corner.
e at, in
e on, from
® in,on
e within, off
Correct Answer :-at, in
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e While climbing the hill, to his amazement,
* the shepherd found
e the box of pearils.
* No error
Correct Answer :-the box of pearls.
9)

Question Stimulus :-
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DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Akbar became a heir

®* to the throne

e at a young age of thirteen.

* No error
Correct Answer :-Akbar became a heir
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

®* Due to its natural beauty

® Kashmir is known as

® Switzerland of India.

* No error
Correct Answer :-Switzerland of India.
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If I had accepted that promotion,
e I would have been

e working in Milan today.

* No error

Correct Answer :-No error

12)
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Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e By the time I reached
e the theatre,
* the show had started.
* No error
Correct Answer :-No error
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

* My maternal uncle
* has been living in Delhi
® since five years.

* No error.
Correct Answer :-since five years.
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If he will prepare a little more,
¢ he will definitely clear
® the first round of competition.

* No error

(6)
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Correct Answer :-If he will prepare a little more,

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If he forget to pay his rent,

¢ his landlady would

e send him a reminder.

* No error
Correct Answer :-If he forget to pay his rent,
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

They said, "We’ve lived here for a long time”.

* They said that they had lived there for a long time.

®* They said that they were living here for a long time.

e They said that they were living there for a long time.

* They said that they have been living here for a long time.
Correct Answer :-They said that they had lived there for a long time.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The Principal told the Children, “"wait here till I return”.
®* The Principal told the Children to wait here till I return.

®* The Principal told the Children to wait there till he returns.

(7)
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e The Principal told the Children to wait here till he returned.

®* The Principal told the Children to wait there till he returned.
Correct Answer :-The Principal told the Children to wait there till he returned.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the students, “If you do your best you will surely pass”.
e The teacher told the students that If they do their best they will surely pass.
* The teacher told the students that If they did their best they will surely pass.

e The teacher told the students that If they had done their best they would surely
pass.

®* The teacher told the students that If they did their best they would surely pass.

Correct Answer :-The teacher told the students that If they did their best they would
surely pass.

19)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Why did your father refuse to give you money?
e Why were the money refused to be given to you by your father.
e Why had the money been refused to be given to you by your father.
* Why was the money being refused to be given to you by your father.
e Why was the money refused to be given to you by your father.

Correct Answer :-Why was the money refused to be given to you by your father.

20)

Question Stimulus :-

(8)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The minister had already informed his cabinet about his decision.
* His cabinet had already been informed about his decision by the minister.
* His cabinet has already been informed about his decision by the minister.
* His cabinet have already been informed about his decision by the minister.
® His cabinet is already being informed about his decision by the minister.

Correct Answer :-His cabinet had already been informed about his decision by the
minister.

21)
Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are your parents expected to come today from Hyderabad?
e Do you expect your parents to come from Hyderabad today?
¢ Did you expect your parents to come from Hyderabad today?
¢ Have you expected your parents to come from Hyderabad today?
e Were you expecting your parents to come from Hyderabad today?
Correct Answer :-Do you expect your parents to come from Hyderabad today?

22)
Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
* Please give me a glass of water and an ice cube.
* Please give me an glass of water and a ice cube.
* Please give me the glass of water and a ice cube.
e Please give me a glass of water and a ice cube.

Correct Answer :-Please give me a glass of water and an ice cube.
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23)
Question Stimulus :-
Fill in the blank with the correct option.

My friend has lent me books and notes for my half-yearly exams.
o few
* afew
* the few
* a little
Correct Answer :-a few
24)
Question Stimulus :-

Fill in the blank with the correct option.

My father always keeps aside___ money for an emergency.
o little
* a little
® the little
* afew
Correct Answer :-a little
25)
Question Stimulus :-

Fill in the blank with the correct option.

He has invited friends tonight for dinner.
o few
* afew
* the few

e a little

(10)
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Correct Answer :-a few

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

What is the meaning of the word ‘injurious’?
* beneficial
* complementary
* harmful
* essential
Correct Answer :-harmful

27)

Question Stimulus :-
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DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

Why is a smoker more prone to diseases as compared to a non-smoker?
e Because of heredity
* Because of lower resistance and a weak immune system
e Because of weak digestive system

e None of the above

Correct Answer :-Because of lower resistance and a weak immune system

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of

the leading causes of premature death in developed countries.
(12)
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Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person'’s lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

“The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start”, what does the word ‘counter’ suggest here?

®* To have an affinity for something

* To react to something with an opposing opinion or action, or to defend yourself
against something

®* To offer something in exchange
* None of the above

Correct Answer :-To react to something with an opposing opinion or action, or to
defend yourself against something

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity

(13)
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system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

What is the meaning of the word ‘nausea’?
®* Total unconsciousness
* A feeling of sickness with an inclination to vomit
® A type of brain fever

* None of the above

Correct Answer :-A feeling of sickness with an inclination to vomit

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also

occur with time. Stamina is also reduced due to decreased blood circulation leading to
(14)
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rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

Why is smoking hazardous to health?
® It causes Lung and throat cancer
e It can cause many heart and lung diseases
* Smoking weakens the immune system and can lead to bronchitis and pneumonia
e All of the above

Correct Answer :-All of the above

Topic:- Hindi
1)

Question Stimulus :-

fFrafafad T @1 wryde yedr S A fd M Tgfamed w=Al § 9E fdwed &1 999 +¥)

39 TR # 5 wHwn o IeTan T 72
o ARY
. FEE
e =N
o BT
Correct Answer -9

2)
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Question Stimulus :-

Frafafad W $ wryde yeer 39 i G T sgfawad uxAl A 9 fawen &1 9ua S

TR GHR I B YT U g9 gHt 81 39 PRU YAfed 3 W aRaTE 8 @ &1 730 HIA aTdl PT oftad 3req
FIAT 1 IST-HAERTS X Hiar-ai gy ' HEH]

a1 & S ugan| HRAE T 3R wenatf s=ar A e #1 AR 8k T B FH A & e R B
S| 98 TR Pt A& H 07 H JI U H T MR fR-R JRU v = 99 | ufRomda: R
D) HIHY AHATNIP 1S 4T SHa- $ g UMY AFT 1 A1 IRTE P IRTG & g B07 a4 a1 98 & 3mywor
B a9 3 T PIs I3 AoR 7RI Tl | St IRTE 7 JeT UM UR 98 °fear IR fidw auald ugd oar gl

THE A G B | UEr?

* TH HH HA & fog

e AR-fle & forg

o fiw A7 A & forg

o fomm & fog
Correct Answer :-7TH $H &1 & fou
3)

Question Stimulus :-

fFafafEa T @ wFYde ded] 3@ A fid T sgfawadt uxAl § a6t fawer &1 ga B

M AR U B THE THJT 99 B! 81 $HP DR Uil 3 TR aEIG 81 I8 &1 =0 B aral &1 oftad 3w
BT 81 IS-HERTST 3R Aar-af ¥ & MY | I 9 & A1d I HT TANT $Hd [ 8

¢ W
o IS
o SMTITEY

® Jdrd
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Correct Answer :-gqdi®

4)
Question Stimulus :-

Frafafea T o wryde yeer 39 i g T sgfawed uxAl A 98 fawen &1 999 9

qﬂnatrﬁ%szraﬁmww gﬁ%lmwmﬁqmwwﬁﬁﬁlmwﬁwmvﬂmm
BT 81 ASTT-HERTST 3R Aiar-avf Y & ARy A IAG1T 9T & 1d YR BT IUYRT HId I8 81 Y&l A1y Uy
ST & " |1maﬁﬂnﬁaaﬁ?wmwﬁmﬁiﬁaqaﬁﬁwneﬁ?maﬁammﬁ%fmﬁwﬁ
ST 98 AR F AxN A U FH & 3gud w9 @ 3R R-¢R IR v saw= 97 a1 uRumia: R
ﬁww%gv@amﬁﬁaq%maﬁ‘mmaﬁW|mﬁﬁw%ﬁqwﬁﬁmﬁ%aﬁm
DI 3T A | BI3 qRI3 Ao Al MMl | St IR T FeT UM R 98 °fedr IR fiax anais uga Sran g

CAT-HERTST & Y Id g 9 a7 412
° ¥
. 7@
o UM
° gu
Correct Answer :-331
5)

Question Stimulus :-

Frafafea T o wryde yeer 39 i G T sgfawad uxAl A 98 fawen &1 99 9

TR : RTUT
ﬁwmﬁmgﬂé W%WWWmaﬁmlmﬁﬁW%mmﬁmW%mm
ﬁéﬂéﬁﬁ?ﬁ%gﬂ%qﬁ? T8l 3melt | 3t IRTE | FeT UM U 98 "fedr TR1E fia qHds ugd Tt 7

M HIA ATl BT Sfia= ST gdT 82
o g
o guit
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* 3T

* JRHCHP
Correct Answer :-3cd
6)

Question Stimulus :-

Frafafed s o AFyde year 39 i 3 T sgfawad u=al § I8 fawen &1 99 &1

gl Bifear g1, BTH § IR F9d |
PIA-PIA DI, YA BT YT IUSIA |
wieral ¥t srufeehl, et § dew-ga A1
3 41d, 3 g, &P 3 AT Fad 1|
TRAT-EH TR GET-HT &1 7T 8
gl 98 WRT 97T G | 9471 UST 811
313t fira T fooeg R & S
g g XMP-VIM ggI Ad AR FAMTI |
I 94 WX He 919 9 39 g
39 I 3MTg I ISTH? Td & ST |
Pifpa M4, fFg I A7 BT M|
YAR B OIR, HF DI HYUT A1

P B | T UTAHT HR T 82
* 39 P ISTHR o oA Bt
* IR HAM Pt
o k9 3 FI
* NP T B
Correct Answer :-fR & 3 &t

7)
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Question Stimulus :-

Frafafea s o wryde ygar 39 i o T sgfawad u=xal § 98 fave &1 9a9 &1

gl Bifear 8], BTH § IR Fad|
PIA-PIA Dle, YAR BT YH ST |
wfeal Wt sruf@Eeh, fcht § Few-ga A1
4 UIY, 9 g, Yh § 3rya gerd ||
TRAT-EH TR GET-HT S 7T 2
g U8 WRT 91T YA A 1 UST 311
313t fira T foomg R | S
g ¢ M-I gl Ad R 7G|
I 94 WX He 91 9 39 qaFl
39 B 3ATE T ISTHY A o ST
Pifpd M4, fFg INT A7 BT M|
YAR DX IR, HF DI HYUT AW |

S g9d Y a1 F iR | o F yrefr 7 HR W@ 2
* I NP HTWM7
° TR HR W@ T
* UE BIY IR 7R §
o TidStgaaa L8
Correct Answer :-3% % &1 VM §
8)

Question Stimulus :-

Frafafaa s o wryde ygar 39 i 3 10 sgfawad uxal § 98 fave &1 99 &1

gl HIfpar 8], PP ¢ R HId |
PTA-PTA PIC, YA BT YA IUSA |
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wferar it srufaeh, fielt § Sed-ga A1
3 U1d, 3 g, &P 3 AT Fed 1|
TRAT-EI IR GRI-91 &1 U7 ¢

g 9 WRT 971 @A | 991 UST 211
33t fira wRmen fooeg R & S

g g XMH-VIH ggI Ad AR FAMTI |

I 94 WX He 919 9 I g

39 I 3Tg I ISTH? Td @ S|
Pifpa M4, fFg IT A7 BT M|

YAR B oIk, HF DI HYUT AR

Ffd THT A Bal & aF Bt UTdET T B /T 82

* YZTHTT TITC HA & forg

* TN FI YR 991 & g

o I # Fiy 9 P forg

* JATaRY S YaYRd 991 & fag
Correct Answer :-4g1HTd T #31 & foe
9)

Question Stimulus :-

fFrafafa s @ wryde yger 39 i 3 T sgfawad u=al § 98 fave &1 99 +4|

gl Bifear =gl, BTh § IR F9d |
PIA-PIA DI, YA BT YT IUSIA |
wieral ¥t srufeehl, et § dew-ga A1
3 U1d, 3 g, &P 3 AT Fad 1|
TRAT-EI IR GRT-H1 &1 U7 ¢

g U8 WRT 91 G § 1 UST B
33t fira waRmen foomg R & S
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g § WH-TIH gl Ad AR AT
I 94 WX He 91§ 39 qaFII
3T B IATE T ISTHY A o ST
Pifpd M4, fFg INT A7 BT M|
YR HY IR, HF Dt YT JAWI |

T G & T G4 ge 22
o feft o @ g A
* 3M® A B g P Ul IART T &
o fhelt veft &Y gt P E 7
o IWi wHt

Correct Answer :-3R® @Rl &1 o & °Ie IaRT T §

10)

Question Stimulus :-

fFafafaa s @ aFYde dgak SHd A 3 T agfawedt u=Al § At fawea 1 9g7 w3

gl Pifpar -Igl, BT § AR 7G|
PIA-PIA Dle, YAR DT YH ST |
wfeal W srufEeh, el § Few-ga A1
4 U1Y, 9 g, Yeh ¢ 3ryar gerd ||
TRAT- TR GRT-1 &1 U7 ¢
g U8 WRT 91T I A I IST 311
313t fira T fooeg R | ST
g ¢ XMH-TIH gl Ad R 7G|
I 94 WX He 91§ I qaI|
3T B IATE T ISTHY A o ST
Pifpa M4, fHg I A7 BT M|
YR B IR, HF Dt YT AW |
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ST ¥ g Sugad fd® 22
* FBYIS
o Sferararen a°T # S
* WRI I4d
o By P yrdr
Correct Answer :-Sfe/amarem 9rT # gdd

11)

Question Stimulus :-
T A AP IuTT § T g A 8-

o R
* IR
® YD
o TYiaRur
Correct Answer :-3U&RI

12)

Question Stimulus :-
"o TTeg $I fdTde TR ¥ e few sut &1yt w32

e

° g

° 3

°?
Correct Answer :-3f
13)

Question Stimulus :-

U SST ST 8-
(22)
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g b URY &

T & 3fd A

T S A |
T4 @ PIS T

Correct Answer -3 & 3id &

14)

Question Stimulus :-
= & o v Bt e frah 32
* SgIRH
o diw
o Tl
° TIN
Correct Answer :-3gisd

15)

Question Stimulus :-
RSt BT AR’ geraR T el o g-
o AT BT UHT HAT
o A ST
o FHft guTWE T g
o T A B T
Correct Answer :-%H ¥8T@ 9 g1

16)

Question Stimulus :-
“IRT 9T IMRIY A 3@ &1 aR1 817 ¥@ifea ggaw 31 3 2-

* T§d §H

(23)
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* 9gd IEAE
. §gafia
® dgd HHHAGR
Correct Answer :-3gd fiig

17)

Question Stimulus :-
g1 § TR A6 W g1 HR A 81 Y@ifed gerak &1 o 3-
o i T A G
o I TG
* Tgd UM HAT
o U B
Correct Answer :-3gd UM ST
18)
Question Stimulus :-

fad M areiv & fog T <reg &1y Hifor-
iy welg u= o et afea &1 Swiaw ver ufauifed fear Siar @

o d@UA

o giaua

* XIqUA

° T A FIE T
Correct Answer :-%3qus

19)
Question Stimulus :-
fad M areiv & fog T <reg &1 yET Hifor-
HHE &0 & 3T g1 B AP
* TIIAATd

(24)
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Correct Answer :-ufasuzf

20)

Question Stimulus :-

39 ufdd ® $H-91 9¢ 7
“GYHUS Y WS BIS § §S, IR IR 7 diferd |
3T AT IS ¥ 99, I 7/ T sifed e

* g

Correct Answer :-ifaesr

21)

Question Stimulus :-
o=t Bfaar ¥ Waw—¢ Te-va1 T AU FEfeiaa # § fFa frar am
* ORI YIG
o ARIRERU Tw
o 3rtenn Rig Sutwmra gRafy’
o Ydoia FAurdt fArrem
Correct Answer :-gdia urdt fRmar

22)

Question Stimulus :-
3T A e, e ) ford oH ardr 9., Uz & Juit & et g1

* HAIR®
(25)

GET IT ON
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o JgHISTH
e JUEH & AN
Correct Answer :-gMIf®

23)

Question Stimulus :-

g o ¥ g ad+t &1 99= Fifore-
* <
. ot
* S
* 3ITIPT
Correct Answer :-3T2®1

24)

Question Stimulus :-
o # Qe Td-il 3T 99 Fifore-

o &
* JIFAH
. g
* JUHD
Correct Answer :-3F a0
25)

Question Stimulus :-

wgal fohe T @Y YT 82
o g4l uome
o ufgdt uue

(26)
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* HIHUI
Correct Answer :-uf¥H! uoma
26)
Question Stimulus :-
faza & oo fa-t YIS AT=ET Ut €2
* 400
* 2796
° 178
°* 179
Correct Answer :-2796

27)

Question Stimulus :-
a ® @ areme’ &1 yafgar T8 3-

* TIMH
Correct Answer :-Yd-dl

28)
Question Stimulus :-
A g # | fPaer yufgard g-
* ggdEd
* gHgARM

® 3¢

(27)
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o JfAa
Correct Answer :-ggdiRH
29)

Question Stimulus :-

IH T’ BT T TG o
* Tpard
* THAH
o Ty

T | PIg T8

Correct Answer :-Jshdish

30)
Question Stimulus :-
D’ BT Tgd UG ¢

e TR

* TWI

® I

® el
Correct Answer :-9A1
31)

Question Stimulus :-

TR IfY PT ISE0T H1H-IT 82

(28)
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Correct Answer :-3dl&?
32)
Question Stimulus :-
‘o’ greg § fobT quif ot i g 22

* T+3

* 3+3

* 3+¢

* T+3
Correct Answer :-3+3f
33)
Question Stimulus :-
IR0 BT HiY DT §-

* I+

® I+

o IJq+E

* IS+
Correct Answer :-3q+8U
34)

Question Stimulus :-

g fofaa 6 argai=n & | uyw g Sifow fAfda §, v o e w0 & gy Fifvm]
(1) Trandt gasiiery =

(T) FTHAT A I HUgE

(}) Sqaron & | § gudh

(W) TRe ®I e g1 g &

(@) ‘9’ | faxa et #t

(6) @ &l gl
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a¥ygq

qaaygr

qagdar

gdavdq

Correct Answer :-9agdv

35)

Question Stimulus :-

g feafad 6 aroi=n A @ yyw g 3ifaw Afda €, v &1 Ifa »9 & afRE Fifcml

(1)
Q)
)
(<7)
(@)
(6)

URd ® G=ul 3R &t &
S EL T

3 3mg o =it

ST o= HAT
ifiFea ? fbg

@t arafy & ft 9fF g5 1
RYgdd

Xd9d

qgar

avdyg

Correct Answer :-=394dd

36)

Question Stimulus :-
“&-F PRI A4 91dT, W ¢ Hifas & qrar”
Iudad Ufdwal § S AT 3EPR 82

wdig
ST

duw

(30)
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o IA&T
Correct Answer :-3dl&l
37)
Question Stimulus :-
“UTHY HEIaR 3 &1, A1 9381 3ms|
e R &I weTedt, USt farsfa sms 11
SUdH cig | P AT AP 32

o IA&T

o Iud

o yifowe

* Wi
Correct Answer :-Yifd#
38)

Question Stimulus :-
fra § ¥ 35 a1 oifke -

o -3 1 Nare § gt &1

o T a8 49-37 e 11

* @S BT A-¢ R Raret g1

-3 I © Gl B
Correct Answer :-ggd 3T d--¢d 971 Rar g1

39)
Question Stimulus :-
o & d oe are BifeT -
* A W YR A
o gu ot Fgd A

o U+ ux e
(31)
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o TH 99 JY&3ad gl
Correct Answer :-gd Jdd Jead gl

40)

Question Stimulus :-

fora g ®1 wagor Ffvre-

A3 # e g, e 81 iR e & WRon ff |, fbg w9 & <fig 1%

e 981 Wfad §- 301 fad | S & FRUI A IAMed gl 8 X S & HROT &7 I a7 31 IABT ST

a ft SFTAT 81 919 IS T A I 3R a6 AN Iadl g1 3R T B F=t @ gt df $i3A A HieT s off
AR T @l B

o foRT=N B FH HA

o R A RN TA B
* gl 18 T8 T8
o T A PI TE
Correct Answer :-9gl 91§ 981 3§

41)

Question Stimulus :-

T q S19-91 fAPey Tt A fApeul § 7f @ e @ 2
o g
o Tm
° 9
° =
Correct Answer :-a@@

42)

Question Stimulus :-

g A & =i’ g &1 sAerdf T 3-
. g

& P
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o Jf&Ia
Correct Answer :-3if&iQ

43)

Question Stimulus :-
dy’ & forw faeaw == ghm-

o foar

o TEU

.« SH

° T A FI T
Correct Answer :-30 9§ I3 gl

44)

Question Stimulus :-

"Sicra’ ®1 fddm 78 ¥ 74 8-

o Iuyea Tt faey &

Correct Answer :-&@+g

45)

Question Stimulus :-

& @ o faew & iR fie &1 w8t SuaT gon §, SU®T 9 Fifere-
e TTd}; g ST AR WHA A
o Trdh ge &1 A WA A
o TTd} ge &1, A WA |
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o Urfi-ge-oi: AN AHA |

Correct Answer :-urdl1 g¢ &1 ¥¥ 4 Al

46)
Question Stimulus :-
P BT JIR &-
* JITPR
* I
* Bq
* IAPR+TG
Correct Answer :-3@oR

47)

Question Stimulus :-
B’ AHG ATl ARt WG 7 aret 3Tard 5-
o fH=Ta
o JImart Y&
* HIE TN
* &Hfddd
Correct Answer :-%fd ¢a

48)

Question Stimulus :-

Haifre Uie 99eH @8-
o gepifad

* JEPR

(34)
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Correct Answer -39

49)
Question Stimulus :-

“HFY g9 & A@® BT A1 HT 82
* TUIHT UG
o g
* TEER yuTG fgadt
* 3Fddd ANR
Correct Answer :-3{ddad AR

50)

Question Stimulus :-

“ggY B Hiel” AHS B & PEHIBR B 82
+ purix
o dgeR Tl et
o HE UwEx
o FIEIH
Correct Answer :-dgsR Ml et

51)
Question Stimulus :-

s ufieT frw wey & Wdfta 8 2
o fafemm
o foofer
o IqAW
o Het

Correct Answer :-faufyar
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52)

Question Stimulus :-
o wgelt 31 T Iw gFe -
vt & i1 swTe® anl, iR TEr 3§ His ant1”

* &

® S

o TIRTw

* STATgERT
Correct Answer :-A1iad
53)
Question Stimulus :-

4 ueel @1 9E W e -
~g8 R A9RE 4D, 9 7 ¥a1 tA o |/ @ U1

* TSR
o T
o ymrmft
* TPR
Correct Answer -t

54)

Question Stimulus :-
‘3o’ BT g ad- fazawor ghm-
* 3M+T+3A+T+T+3
* MN+T+H+JF+T+3
* 3+ +3A+T+T+3

® 3+ +A+T+T+3

(36)
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Correct Answer :-3it++3+H+T+5
55)
Question Stimulus :-
g, B, d, 4, H " 33T 8-
* g o &
* HEAUTHASD
* 3ty T &
o ISy o &
Correct Answer :-3iisd e &
56)
Question Stimulus :-
fra & & 91 te g FHriG 3, 799 PIfore-
o JEUT-IMT
* SIUR-3EY
* IFT-AT
o IR- ITAT
Correct Answer :-3qd@-3ifAd
57)

Question Stimulus :-
9 71 & Ig-gW & ord-Ug § A P9 A1 TAd 82

* IAA-IGA = ddAgIH-orID! AT 7 gl b
o 3IER-ARR = R gemur A8 smar-3im=
* IHF-3 = 3HATA-GuRT
* JIo5-3(dg = HHA-fUSAT
Correct Answer :-3(e-3[ag = HHA-TUSdl

58)
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Question Stimulus :-
g A A vyl v & guERT s o1 999 Fifone-

o Hyifaa
o JETIUTI
* I
o gfeq
Correct Answer :-84ifad

59)

Question Stimulus :-
Frafafea area 9 @ YEifyd g & gamrdf s 1 797 Hifee-
“IPT IRK FAE 1 AT Wierg 1 941 g3 31~
o YTl
°* TRR
* g
* TH™
Correct Answer :-3&md
60)

Question Stimulus :-

&6 JUN &1 T8l RIS g gfe-
° 'g'u:[ﬁ

Correct Answer :-fegarifix

61)
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Question Stimulus :-
fFafafae s & siyR™ 0™ B1 Iger TE 8-

* BHI-FHa

Correct Answer :-Bw-H3T

62)

Question Stimulus :-

fFrafafas @ S e v & 37 99w 8, 39 U &1 A Fifoe-

Correct Answer :-ddit

63)

Question Stimulus :-
o a1 # & fry 919w @1 Tu= Fife-

o A @M WA
* W P WF HRT 4TI
* TF Tol @i AT
o ¥ g1gdl § & R 91y W
Correct Answer :-¥ 978dT § i R 914 @)

64)

Question Stimulus :-

“fig Frgex e Fedt 827 A HIH-91 ared -
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o FHHar"

* YrgarA

T q BIS T
Correct Answer :-&iard

65)
Question Stimulus :-

‘Postponement’ Xeq BT If g -
* URFH
°* VAN
* Y
o T A T T
Correct Answer :-®{H

66)
Question Stimulus :-
‘Gist’ 1&g BT 3 §-

o ymard

o 3

o gyrf

o
Correct Answer :-mard

67)

Question Stimulus :-

‘Bl Bl 5 Bl BT ST, HITATT 7 PaT SiST AP &1 o1 3 82
o IMUWEH A gH PIs it B 7 BT HaA|
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o uRfRfa Fer T ¥t =&t el
o i wrth w &
o FHIS TAJAT T8, TR-IWR A ol AP BIg o IR BIATI
Correct Answer :-®Ig Fdi9dT 781, SUR-3UR A Tel AP BIg Tiel AR HIATI

68)
Question Stimulus :-

‘THT T e AP @ WMl Abifad &1 F4T 3 872
* JUHIAA T
o AT UHE HAT
o wffer g
* AL g
Correct Answer :-ifiar g1

69)

Question Stimulus :-

‘T o1 &1 uTgn, gt A e dtwifaa &1 @ ok § 2
* e Bl TYA H D T Te ARy
o TguM WS & FHa & AaH 99 WaT 7
o Jfafy sarer e T
o Jfafy H $0 FHY & § T S A
Correct Answer :-3fafd & &0 97 A g I ST 91T

70)

Question Stimulus :-

=t & vyw fa =R 8-
o Ture TMf

* HURM
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[ ] W
Correct Answer :-fagmufa

Topic:- General Knowledge
1)

Question Stimulus :-

Which among the following is not a source of a non-conventional energy? / Fufafaa & Qo4 Udh URIYRD
Sl T A 51 872

® Petroleum Energy / ﬁaﬁ“em St
® Wind Energy / dIg St

® Solar Energy / TR SHet
® Tidal Energy / R el

Correct Answer :-Petroleum Energy / ﬁ@ﬁnm Sl

2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / IRE KA

firamg ik R 3T T Pt F MYR W T IW BT 997 B
List-I List-I1

1. Bihar a. Shimla

2. West Bengal b. Hyderabad

3. Andhra Pradesh c. Kolkata

4

. Himachal Pradesh d. Patna

gfa-1 gfa-11
1. fogrR a. Rmen
2. UiEH S b. 86T
3. Siyuex c. DA

4, feurad U d. AT

® 1-d, 2-c, 3-b, 4-a

(42)
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® 1-d, 2-c, 3-a, 4-b

® 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

Find the odd one out on the basis of its eating habit. 3T W1 B 3Med & MYR W 7 & fauwq ﬂﬁl
® Elephant / HE
® Tiger /dTd
® Rabbit / @
® Horse / 'EnTE'»T

Correct Answer :-Tiger / dT9

4)
Question Stimulus :-

Which mirror is used as a rear view mirror in vehicles? / aﬁq 1 E'CfUT a'IETﬂ' | ‘ﬂ%’ a@% ® El'fUT * g - | '§|Th1T
forar wirar 82

® Plane / HHdA

® (Concave / 3ddd

® Inverted / 3¢l

® Convex / 3<d
Correct Answer :-Convex / 3dd
5)

Question Stimulus :-

In which of the following states is Gondwana hills situated? / 19 & & fore Isg & Tﬁ?@Fﬂ vdd fRua 82
® Meghalaya/ AYTery
® Orissa/ G'h'%'!!ﬂ'

(43)
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e Uttar Pradesh/ 3%} U%QT

® Madhya Pradesh/ H¥] e
Correct Answer :-Madhya Pradesh/ A u%!zr
6)

Question Stimulus :-

____is a reaction in which system absorbs energy from its surroundings. / Udh Srfifepar % forad yormedt sr=
qiawr | SHoll Sranfa S 7l

e Addition reaction / T 3fHfpar

e Endothermic Reaction / SHEATRNYT SfUferar
® Elimination Reaction / 3¢ Srfuforar
 Exothermic reaction / SSHTEUL rfifepar

Correct Answer :-Endothermic Reaction / SSHATINYT 3rfarferar

7)
Question Stimulus :-

Rayalaseema is in which of the following states? / ITAAHHT ﬁl’H | ﬁ fpa 5y o %?
® Karnataka / HcH
® Tamil Nadu / AFHEATg
e Andhra Pradesh / 3=/ USRI
e Qdisha / 3\ST=m
Correct Answer :-Andhra Pradesh / 3{T8[ ewr
8)

Question Stimulus :-

Which state of India has borders with three countries namely Nepal, Bhutan and China? / HIRd & fpa
Irog o1 W 9 3= srufq Aure, e iR 99 & Ty 82

e Arunachal Pradesh / 3T$[UcsT

®* Meghalaya / AYTery

(44)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e West Bengal / Uf3® ST
e Sikkim / fafesn

Correct Answer :-Sikkim / fafesd

9)

Question Stimulus :-

Kaziranga national park is in which State? BTSIRAT ?T@'q ST fea I=u o 82
® Assam / 3HH
e Sikkim / Rifdww
® Orissa/ \’rh'%'x"lT

e Uttarakhand / STRTES

Correct Answer :-Assam / 3(9H

10)

Question Stimulus :-

What is the national bird of Bangladesh? / STTEITGRT T ITBIY U&H T 32

® Kingfisher/ fHfhRR

® Cuckoos/ PIFP

eY

® Dove/Sd

® Magpie Robin/ ﬁ'le'.% Afe=

Correct Answer :-Magpie Robin/ Agrs AfS

11)

Question Stimulus :-

GET IT ON
Google Play

Who was the first Indian to win the Nobel Prize? / U@ AI9d JSWHR U B aTell HRATT P

Yr?

® Sir C.V.Raman / W dt.dt =
® Rabindranath Tagore / YI-5ATY SR

® M.K.Gandhi / TH.&.7eH
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® Subramanyan Chandrasekhar / IHUT THIER

Correct Answer :-Rabindranath Tagore / TaI-GATY R

12)
Question Stimulus :-

Which country is the largest steel producer in the world? / fay 4 a9 93T SHId SdlgPd cack:| = %?
® United States / Hgad I
® Australia / Gﬁﬁﬁl’ﬂT
® China/ Cig|
® Russia /Y
Correct Answer :-China / 9

13)

Question Stimulus :-

Which of the following is a tropical grassland? / frafafaa # ¥ H19 Swrsfeddy arg &1 'aEI—"T %?
® Taiga / am
® Savannah / HAAT
® Pampas / Y
® Prairies / iniic |
Correct Answer :-Savannah / gdrdl
14)

Question Stimulus :-

Dipa Karmakar became the female Indian gymnast to participate in the Olympics. / a1 HETHR

N & urr A areht R Afger fomre 5+t
® First/ WUH
e Second/ fEdia
® Third /e
® None / PIS T8l
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Correct Answer :-First / U4H

15)
Question Stimulus :-

Where is Barna Dam located? / STIRAT d1¢ ﬁ'\f R %?
* Dindori/ f&S¥Y
® Ashoknagar / MNP TR
® Barwani/ WF‘ﬁ
® Raisen / IAAT

Correct Answer :-Raisen / 37999

16)

Question Stimulus :-

AB De Villiers is associated with ? /E’,ﬂ %ﬁm m Wﬁﬁ %?
® Badminton / a:"aﬁlﬂ
® Tennis / o
* Golf /TIie®
® Cricket /W

Correct Answer :-Cricket / fohhe

17)

Question Stimulus :-

Deepika Kumari is associated with which sports? /?ﬂﬁw Q)TI'I'\& o @a A gafta %?
® Squash / &H AR
® Boxing / 'ﬂm'ﬁﬁ
® Archery/ diRereit
® Tennis /éﬁﬂ

Correct Answer :-Archery / dIRGrol
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18)

Question Stimulus :-

Who has been named as the International Boxing Association (AIBA) ambassador for Women’s World
Championship from India? / HIRd ¥ wigen fay =g & fore GI?ITF'@TI' 'ﬂﬂaﬁ'ﬁﬁ 1] )Q’Gﬂgﬁq (3&
ToTgd & fog 5 Ffira fosan wan @2

® Pinki Rani/ Ut It

® Mary Kom /ﬁ'\& L

® Laishram Sarita Devi/a‘\’m’q afyar aﬁ

® All of the above / SURYS I

Correct Answer :-Mary Kom / 831 &1H

19)

Question Stimulus :-

Who is the founder of Bharati Enterprises company? / YRt mﬁﬁ\_ﬁ HUN & GRS S %”
* Sunil Mittal / g-itar fore
® YVishal Gondal / fazma mea
® Naween Tewari /qﬂ_-'[ IGEIE
® Sanjay Govil / Tog Mg
Correct Answer :-Sunil Mittal / g-Ta f¥=a

20)
Question Stimulus :-

Find the odd one out / fduH arem Jd ﬂﬁﬁﬂ'{

® Fastrack / tb-l'\‘%ﬁ?
® Titan / CIgCH
® Fossil / WIS

® Acer /T

Correct Answer :-Acer / TR

(48)
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21)

Question Stimulus :-

Which Indian banknote has the picture of a farmer ploughing the field? / o d 9 8 yRAg §F Fie R Bd
TaTd fpar #1 i sifesa 82

® Rs.5/5%F

® Rs.10/10%

® Rs100/100 %
® Rs.500/500 3=

Correct Answer :-Rs.5/ 5%

22)

Question Stimulus :-

Who has been reappointed as the Chairman, Managing Director(MD)and Chief Executive Officer(CEO)
of Hero MotoCorp? / 1RY MIAI®Td & 3redes 3R Uyl fHe=ies (TH &) ik qar wrderd) sifyrert (3t

3 3y & U A Fewe! qRRqe Rear T 22
® Hrishikesh Sulabh / gf&=1 gay
® Veer Narayan Singh | IR AR ﬁl?
® Amar Talwar / 3fHY dedR
* Pawan Munjal / a9 od

Correct Answer :-Pawan Munjal / 9a- Hsldl

23)
Question Stimulus :-

Who gave the title of “Mahatma” to Gandhi? / et B "HelTHT" &t Iurf foraq E(Pf?
e Swami Vivekananda / TTHT ﬁﬁw
* Bal Gangadhar Tilak / 916 TR faa®
* Bhagat Singh / W Rig

e Rabindranath Tagore / Iq=5ATY MR

(49)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Correct Answer :-Rabindranath Tagore / TAGATY ¢MR

24)
Question Stimulus :-

Mother Teresa is an awardee of  /HQ %WT_'\BT qREpd 22
® Only Noble Prize / EICK) YRIDPIR
® Only Bharat Ratna / &9 HURd 7d
® Both the Noble Prize & Bharat Ratna / 9@ [REPTR 3R YR ¥ gl &
® None of these / G'Q'ﬂﬁ G

Correct Answer :-Both the Noble Prize & Bharat Ratna / 9@ RIPR 3R HRA I ST &

25)
Question Stimulus :-

Who was the winner of The Man Booker International Prize 2013? / 8+ gh GI’_\'RT@T[ YRIPIN 2013 & foorar
o A2

® [Ismail Kadare/ QHHISH Py
® Chinua Achebe/ ﬁlﬁ\’rﬂ 3dd
® Lydia Davis / difear sfaw
e Philip Roth / fFfa Ay

Correct Answer :-Lydia Davis / f$aT Sfad

26)
Question Stimulus :-

Who was the first Speaker of the Indian Lok Sabha? / HRTT TPIHHT S YYH 3 el o A2
® Ganesh Vasudev Mavalankar / TTOIRT amﬁa' ATdddR
® PA Sangma / e T

® Manohar Joshi /'FF'ﬁ?T wireh
® Meira Kumar /Iﬂ?T PHR
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Correct Answer :-Ganesh Vasudev Mavalankar / TTOI%T 91[¢d HTGA®R

27)
Question Stimulus :-

Wheeler Island off the coast of Orissa was renamed after which famous scientist? / g m aﬁTﬁﬁ? & 91

W S & d¢ W Frer g1y &1 " ufvafaa fear wr
® Dr. A.P.J. Abdul Kalam / T T.H.G sgd HaTH
® Vikram Sarabhai / fasha IRTUTS
® Homi Bhaba / T;ﬁ'l:ﬂ HTHT
® Tessy Thomas /%?ﬂ YTy

Correct Answer :-Dr. A.P.J. Abdul Kalam / ST T.W.& 3fsgal &ard

28)
Question Stimulus :-

How many continents are there in the world? / IAR ¥ fHaa ﬂ?lﬁ'q %.?

® 6

Correct Answer :-7

29)
Question Stimulus :-

Which is the hottest planet in solar system? / TR dSd &1 g9 TH e CaC k| %?
® Mercury / Y

® Venus / P

® Earth / q%aﬂ
e Jupiter / Jgfd
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Correct Answer :-Venus / &P

30)
Question Stimulus :-

What is the voting age in India? / HIRd H Hderq &t 39 &1 %?
® 21 years/ ay¥
® 22years/ af
® 18 years / a'Ef
® 1years/ G
Correct Answer :-18 years / a4
31)

Question Stimulus :-

The Election Commission of India is situated at « / HIRd BT ferate=r smar ¥ fR« %I
® Mumbai / 9§
® New Delhi / T8 faeelt

® Chennai / %ﬁé
* Kolkata / BIADTAT

Correct Answer :-New Delhi / 7§ faeen

32)

Question Stimulus :-

The first Indian state to take public private partnership projects for redevelopment of slums in urban area under

the recently launched PMAY is / T8d YR Irsg foA g1 8t § grdwif~ie aafeard argie, e
gHfaer arerr SR e &5 & SidTa pMAY SITRY @t 8-

® Goa/ Tal
 Karnataka/ HIic®d
® Rajasthan/ TSTRITT
® Gujarat/ [IRTd
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Correct Answer :-Gujarat/ JoIRTd

33)
Question Stimulus :-

Who is the Chairman of SEBI? / &t (WRda ufayfa iR fafwa a1S) & sremer &1+ @2
® Nishant Rathi/ =1 T3}
* Upendra Kumar Sinha/ 3% $HR Rigr
® Arun P. Sathe/ 37%0UT Ut HTS
* Rajeev Kumar Agarwal/ ITSilq PHR MUdTd

Correct Answer :-Upendra Kumar Sinha/ Jug PUR L

34)
Question Stimulus :-

When was Quit India movement started?/ HIRd @Tﬁﬁ m D AR G3HT UT?
o 8™ August 1942 / 8 3T 1942
o 8™ August 1943 / 8 TR 1943
o 4™ August 1942 / 4 3T 1942
o 3" August 1942 / 3 ST 1942
Correct Answer :-8" August 1942 / 8 3TRAT 1942

35)
Question Stimulus :-

Who started the “Bhoodan Movement”?/ “¥aI- 3mgraq« foaa = o ure
® Chakravarti Rajagopalachari/ Iepad| ITSINUTATATRY
® Murlidhar Devidas Amte/ w?ﬂ' <faere amae

® Acharya Vinoba Bhave/ Sy fameT v
® Sarvepalli Radhakrishnan/ Tdueeit RTUTH T

Correct Answer :-Acharya Vinoba Bhave/ ey faar v
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36)
Question Stimulus :-

In which country was Gautama Buddha born? / f&d =1 & Maq & BT ST g3IT?
® India / HIRd
® Srilanka /eﬂﬁm
® Nepal /ﬁ'q'l?f
® Bangladesh IR %QT
Correct Answer :-Nepal / 3UTd
37)

Question Stimulus :-

Which among the following train travel the longest distance in India? / o A @ 919 @ RS Ya g9d sarer
TR 9 Bl 72

® Kanyakumari Vivek Express/ m'lﬁ faa® mﬁw
® Bhubaneswar-Junagarh Express/ ‘ﬂﬁ’ﬁ? S G IRI Eﬂ'\‘lﬁ'\q
® Black Diamond Express/ <P 31'{143 Qﬂ'\‘lﬁﬂ
® Rajdhani Express/ ST Qﬂ'\‘l'a'\q
Correct Answer :-Kanyakumari Vivek Express/ S-ATQUR] fad® Taauy

38)
Question Stimulus :-

Who is the newly appointed Prime Minister of Nepal? / AUTd & T4 ﬁrgaa YYTHA B %'?
® Shakti Basnet / vIfed g8d
® Khadga Prasad Oli / WS UdTg 3Mteit
® Pushpa Kamal Dahal / ST %HT qed
® Kamal Thapa / PHT YTdl

Correct Answer :-Pushpa Kamal Dahal / ST hHd dgdl

39)
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Question Stimulus :-

Whose signature appears on Indian currency notes other than the 1Re note? / 1 ¥UU % e & AT YR Bt
D! B Al R fraeT gwaer sifepd gar 82

® Finance Minister / ﬁ?‘[ =
® President of India / HIRd & Tl'gqﬁf

® Finance Head of Central Government / $g U¥®R & faw e

® Governor of RBI / HRAIT Red 9% & Ta=R
Correct Answer :-Governor of RBI / HIRd g ﬁ“ﬁ 8P & TR

40)
Question Stimulus :-

Which Sufi invented the tabla and is considered father of Hindustani music? / fo3 ?IQ'ﬁ A %W'I’"ﬂ ifa &
fere qeret @1 enfawe R fama?

* Amir Khusro/ 3R @'\‘R;f

® Zaakir Hussein / SITf$R gﬁ-—r
® A R Rehman / €. 3R IgHTA
® Hazarath Ali / 9IRd 3relt

Correct Answer :-Amir Khusro/ 3HI¥ a1

41)
Question Stimulus :-

Yakshagana is a famous dance form of this State. / &R g4 Wﬂﬁ Th ljlﬁla I QAeit %:
e Kerala/ B
® Tamil nadu / AT

® Andhra Pradesh / Gﬂﬂm

® Karnataka / m

Correct Answer :-Karnataka / B1c®H
42)
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Question Stimulus :-

Who was recently sworn in as the Prime Minister of Australia? / §T¢l s | é’r Gﬁ@ﬁﬂﬂ & gUrEAN & =9 #
fraa =y <t g2

* Kevin Rudd / $fdT ¥

® Julia Gillard / SferaT firard

® Malcom Turnbull / AeHH E‘i@ﬁ
® Joseph Blair / % R

Correct Answer :-Malcom Turnbull / AP eHgd

43)
Question Stimulus :-

Which is the first state in India that will have a ‘Foreign Ministry’? / HIRd # at #1= a1 Ugdl Y % CH|

fagwr darer gim?
 Andhra Pradesh / 38 U=
® Gujarat / oRRTd
* Tamil Nadu / AfHETg
® Teleangana / CGUIE
Correct Answer :-Teleangana / dGITT
44)
Question Stimulus :-

What is the full form of NATO? / Tel NATO &7 O &I 872

® National Atlantic Treaty Organization / AR EE?IT@?T aﬁ Gﬁﬂﬁﬁﬁm

® North Atlantic Treaty Organization / IR mﬂ%a? ?ﬁﬁ Gﬁﬁﬁﬁm

® North Antarctica Treaty Organization / arf QETE??‘[ ﬁ?ﬂ ar‘ﬁ'—ngﬁm

® North Africa Treaty Organization / arf Gﬁmﬂ a?ﬂ' Gﬁﬁm
Correct Answer :-North Atlantic Treaty Organization / arf EE?IT@‘CF Zﬂ?ﬂ Gfﬁ_"l'm
45)
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Question Stimulus :-

When is ‘World Youth Skills Day’ celebrated? / fawg qdr CIRIG] feaw (World Youth Skills Day)’ d HATAT
SITaT 82

o 15% July/ 15 TS

e 20" May /2095

o 24" October / 24 SFEAR

e 22" November /22 TdeR
Correct Answer :-15" July / 15 JaTg
46)

Question Stimulus :-

Where is the Security Paper Mills located in Madhya Pradesh? / H¥d FI%QT s tlﬁf'ﬁ[ﬁf DTS BRI ﬁ"f @

8?2
® Hoshangabad / ﬁQFTWI'd
® Dewas / m
® Gwalior/ qrferaR
® Dhar/ YR

Correct Answer :-Hoshangabad / GG

47)
Question Stimulus :-

Which plateau covers almost the entire part of Western Madhya Pradesh? / PI 91 USTR uf3ef H Y &S T

QX o ®1 epar 32
® Malwa / HT@al
® Berar /SRR
® Shivpuri / Rragd
® Morena / g1

Correct Answer :-Malwa / HTddl

48)
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Question Stimulus :-

The only Eco tourism site in Bhopal is / Wiyt § THHE TRyded wid 8
* Kolar dam / PR Y
® Rajghat dam / ITSTUTE Y
® Kerwa dam / &%l §i¢
® Halahi dam / Eﬁlﬁ Y
Correct Answer :-Kerwa dam / $3dT i
49)

Question Stimulus :-

Dudhsagar, Hundru and Chitrakoot are names of / GUUTR, 8% Ud ﬁﬁl@' & AT
gl

®  Waterfalls / STAUUTd
® Mountains / Udd
® Deserts / HOXA

® Glaciers / ﬁﬁm

Correct Answer :-Waterfalls / STAYUTd

50)
Question Stimulus :-

One of the finest Teak forest of the state of Madhya Pradesh is found in/ ] SR & IoT & dgas = IR BT
STd# uTgT STar gl

® Satpura Sanctuary/ YdqST AHIRUY

® Ratapani Tiger reserve/ TATUTHT 979 SHARTY

® Sanjay Sanctuary/ HoTd JHIRTY

® Kanha Sanctuary/ dI-gl HIRTY
Correct Answer :-Ratapani Tiger reserve/ JTATUTHI §TH AHIRUY
51)
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Question Stimulus :-

720 families live in an apartment. Out of that 120 familes are from North India, 360 are
from South and 240 from West Bengal and the information has to be represented in a Pie
Chart, find the angle to be marked at the centre to represent North Indian Families? /

720 URAR TH UEHe A 54 ¥, A F 120 TRaR W YR A §, 360 3fRwr @ § sk 240 ufdw s
mrﬁmaﬁméméwaﬁm%,wm$uﬁmﬁﬁaﬁ%m%wwmmﬁmw
* 120°
e 60
e 33.33°
o 240"
Correct Answer :-60"
52)
Question Stimulus :-

A polyhedron has 7 faces and 10 vertices. How many vertices does it have? / T dgb ¥ 7 AP g 3R 10
PIvIfeg 71 ISP HIvifeg fopa 82
* 17
® 15
* 12
* 19
Correct Answer :-15
53)
Question Stimulus :-

If the adjacent angles of a rhombus are equal, the measure of each angle will be: / afg mﬂ\_ﬂ' & URIER

PI0T SRR &, a9 UAP BV BT ATY BT
e 60°
e 90’
e 450

e 80’
(59)
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Correct Answer :-90°

54)
Question Stimulus :-

Reliance Ltd opened at 365 points. It fell by 56 points as the day progressed and gained
92 points when the day closed. The value of its share at close was ./
e forfies 365 wWige W el &7 9 R 3mt @1, a8 56 Wiée AT o 1o WA o 9 92
Wise U P IATEH 1R I9F JAR BT {4 AT

e + 329

°* _329

* 401

* +401
Correct Answer :-+ 401
55)

Question Stimulus :-

If the sum of three consecutive odd numbers is 63, which is the first of the three consecutive odd numbers? /

& waTTa faww Hemsi &1 A 63 7, i ARG fauw d@ms # & yyd o I 32
e 21
° 23
° 19
° 25
Correct Answer :-19

56)
Question Stimulus :-

Ansy scored 87,86,92 and 95marks in four subjects. What §hou|d be he!' I.east score in the
fifth subject if.she has to get a mean score of 90 in all? / Qiﬁﬁ IR foway A 87,86,92 3R 95
3P TR fFd| U fiwa & ITSHT YAad W R T gHT AT e I/ A 90 HT WIed WhR AT 82

® 95

® 389
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® 93

* 90
Correct Answer :-90
57)

Question Stimulus :-

The difference between the highest and lowest values in a given data is called

its / AT s1eT # IwaH R YAAH U & §F BT 3R
IS HEATT 8|

® Data /SICI

° Range/tlﬁﬂ'\"

® Frequency / S RARI

® Array/ TqRoft
Correct Answer :-Range / TREY
58)

Question Stimulus :-

How many tiles will be required for the flooring of a hall of 35ft X 20ft, if the tiles are of size2.5ft x2ft? / 35 P
x 20 e & gd & B R fao™ & [ feat ersal 3t smazadan gift, afe erga &1 I8 2.5 Te x 2
P

® 140

® 1400

® 14000

* 14
Correct Answer :-140
59)

Question Stimulus :-

Each side of a rhombus is25cm. If the distance between the two parallel sides is 12¢m find its area? / Tdh

Fragys @1 vl Yo 25 A g1 TS & quiaR Yot & I Ft g 128 } @ SHH &Fwa w7
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® 150cm?

® 1500cm?>
e 600cm?

e« 300cm?2
Correct Answer :- 300cm?

60)
Question Stimulus :-

Gathiman express covers a distance of 200 km from Delhi to Agra in 90 minutes.at an
average speed of 133km/hour. Railways plans to reduce the journey time to 75 min What
should be the increased speed in km / hr? (round figure) / TAH oSN el & 3IRT &1
200f%H g&f 90 fiiFe ¥ 133 &t ufa gue #t o @ | T HAl 8. Jd, I BT THT $H HIb 75
e 1 & gioAT 99 81 9T g8 A fet ufa gver # fanr g wnfgdr

* 180

® 140

® 160

® 150
Correct Answer :-160
61)

Question Stimulus :-

The period of rotation of geo stationary satellites around the earth is / q&ﬁ% IR 3R '#L@R

SWIEl & YuiF Bt @y g
* 24 hours / 24 °¢
* 100 minutes / 100 fiFe
* 48 hours / 48 ¢
* 48 minutes / 48 fiFe

Correct Answer :-24 hours / 24 4¢

62)

Question Stimulus :-
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Aluminium when exposed to the atmosphere gets oxidized to A1203.1t is a / ATdTdRUT | Wﬁlﬁ'ﬂ'ﬁ & TUS gd
€ A1203 FT RGO &) ST B1 3 7

® Basic oxide / CIR:Cg GI'IVWI?JE

® Acidic oxide / 3w 3ﬁ3’\‘|’|3‘6

® Neutral oxide / ol Gﬁ?\‘l’lg_s

® Amphoteric oxide. / Mﬂ"ﬁ\?ﬁ?\‘lﬁg
Correct Answer :-Amphoteric oxide. / SHIYHT 3iTRITSS
63)
Question Stimulus :-

When the distance between two bodies is tripled, the gravitational force between them is / SId a a?ﬁéﬁ @t g

ot g3t farit 3% & 97l @, @ 399 e iy Ia
o tripled/ﬁl'{F'IT ﬁ\“ﬂ'l’(ﬂ %
® reduced by a factor of3/3%W@ﬂE\_ﬂ'ﬁT%
® multiplied by a factor of9/9$m'\ﬁ'{[uﬂiﬁ SITdT %
® reduced by a factor of9/9a'7W®‘aE\_rl'lTﬂ%

Correct Answer :-reduced by a factor of 9/ 9 % PR I U STdT %

64)
Question Stimulus :-

Which of the following clothes will be more comfortable for us to use in winter? / g AA B ?5'1% Wﬁtﬁ s i
TART B3 g SATel ARTHGIA® Biil?

® White or light coloured clothes / e T Gﬁ? & HW%

® Thick blanket / HIET Had

® Two thin blankets joined together / ThdTY \_rﬁ% ™ T:?f Udd Had
® Wet clothes / it HW@C

Correct Answer :-Two thin blankets joined together / THHTY Fﬁ% D] T:'Ef yde Had

65)

Question Stimulus :-
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The strongest interparticle forces at room temperature is in / P & AUAM W J99 Holgd
PUNR g ug

Oxygen / ST

Water / STdl

Iron /?ﬁ?T

Sulphur / WY

Correct Answer :-iron / @8l

66)
Question Stimulus :-

Atul cut one sheet of paper into 5 pieces and later burnt them to get some ash. The changes happening are / 3Id& 3

TP BRI Pt M DI 5gHSI A HIel aUT 91¢ A I oAl DR 1@ §41471 9 Ufehar § g
® Both chemical changes. / ﬂ‘ﬁ ITafe ufvad %
® Both Physical changes /Eﬂ*ﬁ 'J-ﬁﬁﬁ? uhaﬁ-—r %
® Former a physical change and latter a chemical change / Ug <l Wifae ufvad= aur QI ITafe uf¥ad
?
° ;cgg%;ra%hemical change and latter a physical change. / g ¢l ISP ufad= 9T QT Wfas

Correct Answer :-Former a physical change and latter a chemical change / Ugdll Wifae ufvad= aur QI
A afvad= 8

67)
Question Stimulus :-

In which of the following organisms, the m-RNA does not move from the nucleus to cytoplasm? / = 9 e

Sl ®, TH 3RUAT A1fHS T A5 H &l Sirar?
* Chlamydomona / &fASHAN
® E.col /3.FIdl
* Amoeba / 3T

® Mucour / PE)“I"\'
Correct Answer :-E.col /3.®Idl
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68)
Question Stimulus :-

The organelle which contain enzymes for intracellular digestion is / PIRHIT oy Sid: PR ureq & forg
TTSH BT @

® Ribosome / m

® Mesosome / HIGH

® Lysosome /?I'IE'\"-ﬁ'\‘ﬁF

® Vacuole / THYTHT
Correct Answer :-Lysosome VIS IR IR
69)

Question Stimulus :-

Enzymes are mainly made of / CNITgH 8T =7 3 d T Eﬂﬁ %
® Proteins / me=

® Carbohydrates /ml?g%?

® Nucleic acid / :q:%ﬁ? < EN)

® Steroids / WRIAS
Correct Answer :-Proteins / M
70)

Question Stimulus :-

The application of Science to solve problems related to law / faga &1 Glﬂ'mﬁ'ﬂ Tl DI et gawmse &
T Pl @

® Forensic science /RTRTI?IﬁTJF ﬁ?ﬂq

® Legal science /a’TlTﬁ ﬁ?l'l_"l'
® Pharmaceutical science léﬁ'q‘il ﬁ'ﬂﬁ

® DNA fingerprinting / i1 1Y Gl'ﬂﬁﬁﬂl_'f
Correct Answer :-Forensic science / <ATATAI® fagm=
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71)

Question Stimulus :-

The average weight of 3 men A, B and C is 84 kg. Another man ‘D’ joins the group and this increases the average
weight by 4kg. What is the weight of ‘D*?/ 3 T&UI A, B 3R C T 3NTd Ioi 84 fHuT 31 T ¥ T YW D’
TS gaT 8 3R 3HP HRUT 3NHd gl | 4fFI Y gf 8t &<l 31 <D’ &1 awiA fapamn 32

® 100

® 90

® 95

® 105
Correct Answer :-100
72)

Question Stimulus :-

If x-3; x-7; x+8; x-4 are in proportion, what is the value of x? /afe x-3; x-7; x+8; x-4

3uTd ® &, x BT 17 T g2

e 9.0

e 18.5

e 8.5

e None /®Ig Wt &Y
Correct Answer :-8.5
73)

Question Stimulus :-

The ratio between the present ages of A and B is 5 : 3 respectively. The ratio between A’s
age 4 years ago and B’s age 4 years hence is 1 : 1. What is the ratio between A’s age 4
years hence and B’s age 4 years ago? / 9dd & A iR B aﬁsngmemmm: 5:3%149d
Tgd A P AT 3R 4 T 91 B Ht MY & g BT U 1 : 1 TIN? 4 19 91 A P 3T 3R 4 I Ugd

B @1 31 PT 3JUTd FT GRIT?
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® 4:1
Correct Answer :-3:1

74)

Question Stimulus :-
2 1
A person’s present age is © of the age of his mother. After 8 years, he will be 2of the age of

his mother. How old is the mother at present?/ adu § U afqa oY Ay Srat |t #Y oy &7
HRT B 1 8 96 a1g, IqP! MY MU=t Af FI g B 281 ada= & IqP! A7 P 31y e ¥2

® 32 years/ 32 Ty
® 36 years/ 36 Ty
® 40 years/ 40 Y
® 48 years/ 48 T4

Correct Answer :-40 years/ 40 4

75)
Question Stimulus :-

3/2 of 26 is / 26 T 3/2 &:
° 32
* 39
® 40
e 28
Correct Answer :-39

76)

Question Stimulus :-

Remainder when you divide 135 by 3 is / STd 3{TU 135 F 3 9 faurfoe s % al 2:

* 0
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e 5
Correct Answer :-0

77)

Question Stimulus :-

GET IT ON
Google Play

In a test, Gopal scored 98 marks out of 300 marks but fails by 22 marks. What would be the minimum percentage

of marks required to pass the test? / Y TIE| ﬁ, murd P 300 3Pl | 98 3P YT Bl %, e 22 3l |

fawa g wirar 81 Sirg ¥ U 39 & fe feaq <gAaw siw! &t smaxgsar gril?

® 40%
® 35%
® 30%
® 36%
Correct Answer :-40%
78)
Question Stimulus :-

Fill in the missing alphabets / T 31&R HRT

ab__aabb__ab__a

® b,b,b

® a,aa

® ab,a

® b,a, b
Correct Answer :-b,a, b
79)

Question Stimulus :-

64% of 100 is / 100 DT 64% %:

° 64

(68)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

®* 60
* 80
* 82

Correct Answer :-64

80)
Question Stimulus :-

Which one of the fqllpwing four addresses is NOT EXACTLY .the same as the One given
below? / 4 IR tal & & &9 1 -4 3 14 vd & uwHew wuH L 82

Din & Din Ford

1000 W Wade Hampton Bilvd
Greer, SC 29650

(864) 877-0711

(i) Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877-0711

(ii) Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877-0711

(iii) Din & Din Ford

1000 W Wade HamptOn Bilvd
Green, SC 29650

(864) 877-0711

(iv) Din & Din Ford
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1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877-0711

® jii

* 1V

Correct Answer :-iii

81)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / IBE]
IR Udl # & P9 T U bt i & TheH JAH 8] 82

Sr. George Rodriguez
Calle, 21, Esqauina K, Vedado

La Havana, CUBA

i. Sr. George Rodriguez
Calle, 21, Esquina K. Vedado

La Havana, CUBA

ii. Sr. George Rodriguez
Calle, 21, Esqauina K, Vedado

La Havana, CUBA

iii. Sr. George Rodriguez
Calle, 21, Esquina K. Vedado

La Havana, CUBA
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iv.Sr. George Rodriguez
Calle, 21, Esquina K. Vedado

La Havana, CUBA

® jv
Correct Answer :-ii

82)

Question Stimulus :-

GET IT ON
Google Play

Two trains staring from the same place run at the rate of 50 kmph and 55 kmph respectively. What time will they
take to be 85 km apart, if they run in the same direction? JAC | Wﬁ%fﬂﬁﬂ?ﬁ a‘ﬁaﬂﬂ%m
50 et ufer geT wd 55 faft sfa e A Mo A Qs g1 af dww g e A s @ S dr g v fad a5

fort ot gt T & o fosa=r s aekm?

® 16hrs /16 %c
® 18 hrs/18%6¢c
o 17hrs/17€i%

® 15hrs/15%9c

Correct Answer :-17 hrs /17 9¢

83)

Question Stimulus :-

Kamal bought a refrigerator for Rs.6000 from Bombay and brought it to Bangalore spend transportation charge
Rs.750 and over head expenses Rs.300 then he sold for Rs.6800. What is his loss? / PHT C| aﬁg ¥ 6000 U

BT T fhe @IQT 3R U 750 P Uf¥agd AN UG 300 FUY BT HUI! o0 P34 & UYTd 34 STaR @

3mar| fiR I+ bt @1 6800 T0d ¥ 99 feam| I/ fvar Joam gam

® 400

* 300

* 250

® 350
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Correct Answer :-250

84)
Question Stimulus :-

Find the next term in the series 6,3,12,6,24, /9EdT § 30TAT US Jd P
6,3,12,6,24,

° 12

* 18

° 30

° 48
Correct Answer :-12
85)

Question Stimulus :-

Find the next term in the series. / 4T § 3[TAT US JTd PIfolg

1, 15,9,17,7,19, ?

Correct Answer :-5

86)
Question Stimulus :-

If “PLAYERS WEAR SHOES” stands for “BIN TIN RIN”, “LADIES WEAR BANGLES” stands for “SIN CIN TIN”, “BANGLES OF
GOLD” stands for “NUN SIN TON” then which word stands for LADIES? / df¢ “PLAYERS WEAR SHOES” Udided ®dl
€ “BIN TIN RIN” I, “LADIES WEAR BANGLES” UclT@red T & “SIN CIN TIN”, “BANGLES OF GOLD” WciI&hed Hdl &
“NUN SIN TON” Y 91 T XTsg LADIES P! UdIhed HIdT 87

® NUN
® CIN

® SIN
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* TIN
Correct Answer :-CIN

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? / 1 fewrd T w9 ° SpATet Gﬂﬁﬁf P It g

(73)
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Correct Answer :-

88)
Question Stimulus :-

If 1st March 2007 is Tuesday, what will be the day on 1st November of the same year? / gfe 1 AT 2007 HIEER

g, @ S 9d & 1 TaraR &t B 4 & geme

® Tuesday / HITCAIR

® Wednesday / §YdIX

® Friday / Y[$dIRX

° Sunday/?ﬁa'ﬂ'
Correct Answer :-Tuesday / TR
89)
Question Stimulus :-
A + B means that A is the father of B/ A+ B®THdad s {6 A, B & a1 &
A - B means that A is the mother of B/ A - B S1Hddd ¢ {& A, B &1 AT &
A x B means that A is the brother of B / A x B #THdAd ¢ f& A, B &1 HIS @
A / B means that A is the sister of B/ A/ B®THdAd g fb A, B B 984 &

A!B meansthat AisthesonofB /A!B SIHdAd e P A, B BT ICT

A $ B means that A is the daughter of B/ A $ B #THaad & f& A, B #1981 @

In which of the following options will be C is the cousin of E? / fu A6 A dH A sl d C, E

PT TERT HTS SRIT?
e C$BSE
e C$BxD-E
e CIB!E

e CxE
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Correct Answer :-C$BxD-E

90)
Question Stimulus :-

B is the wife of A. C is the niece of B. D is B’s brother. How is D related to A? / B, A &1 Ul
81 C, B 31 YdlSlt 81 D, B &1 4TS 81 D, A 9 $ Hafd 82

® Sister / dg-

® Brother-in-law / dT¢ll

® Daughter / adt

® Daughter-in-law / 9§
Correct Answer :-Brother-in-law / 9Tdl
91)

Question Stimulus :-

Which of the following is the mirror image of COLLATE? / ffada A P AT COLLATE BT E'thT IGICES] %?

COI'IVLE
COLIVTE

COITVLE

COLLVCE

COITVLE

Correct Answer :-

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / 5 7% ¥, Td Mg BT g Weg & 91U el 7R A IS Tay 31 afe SRR Mg 1A I &
Y I YR $T JGY T IR, ol DT g g

Jupiter : Sun :: Moon : ? / gg9fd : g4 :: Tig : ?

® Planet / Ug
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® Star / dIRT

o Earth/q&ﬂ
® Sun /?Il'f

Correct Answer :-Earth / et

93)
Question Stimulus :-

In how many ways can 5 members be selected out of 10 members, so that two particular members must be
included? / 10 UG # ¥ 5 WG| $1 99 fHa- yoR # g1 Gar 3 forad i @t fafkre wewa sifferd wu @
e i o wd

° 52

* 44

® 56

e 28
Correct Answer :-56
94)

Question Stimulus :-

Megha travels 6km towards west, then Skm towards north, and finally travels 6km towards west. How far is she

from his original place and in what direction? / AT ufy| ot 3N 6fe msnmr—h%, iy TR 9t 3R
sfptll, ok ofd o Uy F1 ok 6fpH 1 a7 v SRy og A fpa @R & R forw fo=m & @2

® 13 km to the north-west / IWR-ufyH ot 3k 13fHH
® 8 km to the north-west / IWR-Uf¥H ot 3R 8fpHt

® 11 km to the west/qf%mﬂ”ﬁéﬁ?llﬁﬂ:ﬁ

® 17 km to the west / uf3\ @t 3fv 17feH

Correct Answer :-13 km to the north-west / SAR-Uf¥H &1 3R 13fHHt

95)
Question Stimulus :-

What is the day on 15™ August 20507 / 15 3[R, 2050 & S AT o1 g2
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® Monday / THaR
® Tuesday / HIAAR
® Wednesday / YR

® Thursday / AR

Correct Answer :-Monday / JIHAR

96)
Question Stimulus :-
CANCELLED

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g oY b @t =P F T A T Y= & 9uE @

If stock prices rise, then bond values fall. Stock prices are rising. / fe AW & YT Efa'?f %', a
AsF U UCd &1 MR & UG 9 W} &

® One should buy stocks. / g% Th P AW E’\ﬂﬁ T'-IT%({I

® If bond values fall, then stock prices rise. /?T% TSI}I'TS' a3 Heg ﬂ?ﬁ %, ?‘ﬁ ‘;ﬁw a? H1d EE% %:I
® Bond values are rising. /AR P YT d¢ ?% %'I

® Bond values are falling. / TWR $ YT 9 ?% %:I

Correct Answer :-Bond values are falling. / R & HTd U< I3 %'I

97)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu

g &t aF ot =P F R R ™ FYE & JuE 3

If it is cool, then it is winter. / Tf¢ 5@ &, @ 9df 21

® Ifis not cool, then it is not winter. /“qﬁ 38D T'Iﬁ %, a Hﬁ T-I'(-ﬁ %I
® If it is not cool, then it is winter. /?T% 38d qﬁ %, a ﬁ%l

® If it is not winter, then it is not cool. /Tl'% '\‘:l_cff:lﬁ %, GURCEE D qﬁ %I

® [f it is winter, then it is cool. /!T% ﬁ%, a8 %I
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Correct Answer :-If it is not winter, then it is not cool. /afe ﬂﬁqﬁ %’, N dsb Tl %I

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 Y9 gHd i
38 T Hy=T vd ol & aR 7 WE 6

Statements: / $Y-:
Some dogs are bold. / $3 $ fffe B
All cats are bold. / 9t fafewar Faffe 1

Conclusions: / fAssd:
I. Some dogs are cats. / I. $9 Qﬁﬁ‘%ﬂl‘f%l
II. Some cats are dogs. / II. $9 ﬁ'lc;vlﬁﬁ %'I
® Only conclusion | follows / W ﬁ'mﬂf | ﬁﬁ?ﬂ %
® Only conclusion Il follows / W ﬁwﬁf 1 ﬁ'ﬁ?ﬁ %
® Either I or Il follows. / TT Y forewd | a1 A7 11 fFrpetar %

® Neither I nor Il follows. / ?ﬁ | Gﬁ?’ T ﬁ n fFreadr %
Correct Answer :-Neither I nor Il follows. / = Y 1 3R 9 B 1 FFredar %
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ YU+ ilﬁ'a St
38 T Hy=T vd ol & aR # WE 6

Statements: / ®YH:

No actor is a director. / ¥ W Taex Fdw® =5 31
Some directors are financers. / $© = g g1

Conclusions: / fAwpd:

I. No actor is a financer. / I. 313 ¥ Taer fa<e T 7€l g1

II. A financer can be an actor. / II. U ﬁ?ﬁ.‘TEIT T I{EETE*WT%I
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® Only conclusion | follows / Fad ey | freadar %

® Only conclusion Il follows / *Had fased 1| fAeadr %
e Either I or Il follows. / TT ¥ 1 AT {6 1 A adr %

® Neither I nor Il follows. / 5T €l | Gﬁ? T T;ﬂ i freear %

Correct Answer :-Either I or Il follows. / T a1 1 T fB¥ 1l fApadr %

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 &4 gHd &
33 T $y=1 vd fFrewut & IR | 98 §:

Statements: / ®Y-:
Julie is a film. / S[ei U® e g1
Some films are beautiful. / T fihed ez B

Conclusions: / fApt:
I. Julie is beautiful / I. Sal e 1
II. Julie is not beautiful / II. e Yo 11 B

® Only conclusion | follows / Fad ey | fFreeadar %

® Only conclusion Il follows / *Had fased 1| feadr %
e Either I or Il follows. / TT Y 1 AT f6% 1 A adr %

® Neither I nor Il follows. / T d I GﬁT T T;ﬁ i freear %

Correct Answer :-Either I or Il follows. / T a1 1 T f¥ 1l Fpadr %
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